Categorial grammar — zero-emission power to your MWE parser
HYPOTHESIS: "Stalin kicked the bucket" is a well-formed Sentence (S)

Phrase Structure Grammar PSG Lexicon S
S—>NVP Stalin: N / N\
VP - VN the-bucket : N N /VP\
kicked : V Y N
kicked the-bucket
Categorial Grammar N=N S=S .
Stalin : N N=N N NS=S "
tr_le-bucket N N N\S/N N > 8
kicked : N\Sl N Stalin  kicked the-bucket

HYPO2: "Stalin finally kicked the bucket" is a variant of the sentence above
HYPO3: "kicked the bucket" is a constituent of the same sentence above
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Stalin finally kicked  the-bucket
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kicked the-bucket



